Refresher Course Math 1050 and 1060 Practice Problems Set 6 Fall 2007

1.) Find f(5) if f(x)=2%>.

£(5) = A Z_L: [_LZ]

2.) Graph f(x)=—-e""'+3.
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3.) Evaluate log, 49. \

4.) Graph logy x.
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5.) Expand 1og2(,/x2(x+2)).
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6.) Write Inx—2In[x+ 2+ In(x —2)] as a single log with coefficient 1.
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7.) Solve each of the following:
a) —e*+5=-10 b.) e* —3e*+2=0
X X
e =15 (e -2)(e*- )
X= In2, In|
So
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c) 2log;3x=4 d) In(x-2)+In(2x—3)=2Inx
lo%_ Ix = L In (xez)(zx,;)) = |n X
Ix = G° = (X’ZJ(ZH) = %
Sx= 19 Lxt=7x+6=x"
X = —%9 XL"7X+0/ =0
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